Maytag MFR35PCATS 23 - BASKET & OUTER SHELL ASSEMBLY(SERIES
11)

BUS ORI raugy
ALK X LY

fan
LA L L LY TR

. R T W
G Ve0avaavrotunqetoratniuny \"

\

L
Lo Sweviaunisarernanaenaveen 11} \
pr, YU0EES 200 T uAb e nunNes Y ‘.“_ 1y
reecaeveny L LY
vacnuewras 13 ia
1 aasvuarhdebzatnasvie 0 i I.”\'
1 aivnbeorevavansinednrien | laI v

llllx!ﬂll'n:itn'lulnllulnn ‘
O R R TR AR i
Lorpsinetarrrenot

1
T el R R (BRI | R
)

) oanscanés N

lI SRR PRPETTSLEECEERE A B - - B
URCTELLARAARAANAETER TN S B B
U ogpaaneniareenud

U ppegattninendt

'

'

“nnuanununu

aeve
pett anpuo e

Maytag Commercial Maytag MER35PCATS Washer Parts Parts Diagram 23 - BASKET & OUTER SHELL

ASSEMBLY(SERIES 11)
Click on the part number to view part

001 NLA Not Available TUB (COMPLETE)
002 23003817 Drum And Shaft Mfr 35 Lu
003 23002934 Tub
004 23001193 Backplate
" 23002178 Plate, Base
005 23001195 Backplate
006 23002935 Ring
007 23001198 Shield
008 23001199 Gasket, Rear Shell
009 23001200 Hinge, Mirco Switch
010 23001594 Heating Element Hole Plug
011 23001592 Adaptor
012 23002179 Washer Nut M14
013 23002936 Temperature, Sensor Holder,

Nut M14


http://www.pwslaundry.com/c-299379-commercial-maytag-mfr35pcats-washer-parts-for-repair-service
http://www.pwslaundry.com/i-7799274-maytag-23003817-washer-drum-and-shaft-mfr-35-lu.html
http://www.pwslaundry.com/i-7798724-maytag-23002934-washer-tub.html
http://www.pwslaundry.com/i-7797771-maytag-23001193-washer-backplate.html
http://www.pwslaundry.com/i-7798280-maytag-23002178-washer-plate-base.html
http://www.pwslaundry.com/i-7797773-maytag-23001195-washer-backplate.html
http://www.pwslaundry.com/i-7798725-maytag-23002935-washer-ring.html
http://www.pwslaundry.com/i-7797776-maytag-23001198-washer-shield.html
http://www.pwslaundry.com/i-7797777-maytag-23001199-washer-gasket-rear-shell.html
http://www.pwslaundry.com/i-7797778-maytag-23001200-washer-hinge-mirco-switch.html
http://www.pwslaundry.com/i-7797996-maytag-23001594-washer-heating-element-hole-plug.html
http://www.pwslaundry.com/i-7797994-maytag-23001592-washer-adaptor.html
http://www.pwslaundry.com/i-7798281-maytag-23002179-washer-washer-nut-m14.html
http://www.pwslaundry.com/i-7798726-maytag-23002936-washer-temperature-sensor-holder-nut-m14.html

014 23002358 LOCK WASHER M8

016 23001203 Washer

018 23001204 Washer, Finishing

020 23002847 23001205 Bolt

022 23001055 23001014 Nut M4


http://www.pwslaundry.com/i-7798395-maytag-23002358-washer-washer-m8.html
http://www.pwslaundry.com/i-7798003-maytag-23001607-washer-nut-m8.html
http://www.pwslaundry.com/i-7797824-maytag-23001266-washer-nut-m8.html
http://www.pwslaundry.com/i-7797780-maytag-23001203-washer-washer.html
http://www.pwslaundry.com/i-7798101-maytag-23001777-washer-screw-drive.html
http://www.pwslaundry.com/i-7797781-maytag-23001204-washer-washer-finishing.html
http://www.pwslaundry.com/i-7798470-maytag-23002473-washer-rubber-protective.html
http://www.pwslaundry.com/i-7797782-maytag-23001205-washer-bolt.html
http://www.pwslaundry.com/i-7797695-maytag-23001089-washer-screw.html
http://www.pwslaundry.com/i-7797657-maytag-23001014-washer-nut-m4.html
http://www.pwslaundry.com/i-7797783-maytag-23001206-washer-bracket-motor-harness.html

	Maytag MFR35PCATS 23 - BASKET & OUTER SHELL ASSEMBLY(SERIES 11)

